Practice Day
Geometry
1. Simplify the following:

a.  
[image: image1.wmf]32


b.  
[image: image2.wmf]180


c.  
[image: image3.wmf]×

37414


d.  
[image: image4.wmf](

)

2

35


2. [image: image15.png]


Solve for x:  
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Determine the unknown measures:
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4. Determine the distance between the following pairs of points: 
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5. A 20 ft ladder reaches a window 18 ft high. How far is the foot of the ladder from the base f the building?  How far must the foot of the ladder be moved to lower the top of the ladder by 2 ft?
6. Solve for x:
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7. Determine the equation of the line between the following pair of points: 
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8. Solve the systems:
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